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pEFINITION
Those persons who are related to

‘ another persons by hi - ks  marriage
called in Blood Relation. persons by birth rather than by marriage

are

' start right from basic ee :
L;]I' -h we should know 1dnd see what are the different blood relations in a family.
whict 0 understand the logical reasoning in blood relation
questions. ;

Remember the relations as given below:

(i) Children of Same parents — Siblings
One’s Husband or Wife —> Spnus::
Relatives on Mother’s Side —» Maternal

Relatives on Father’s Side ~ — Paternal

(ii) Father’s Father — Paternal Grandfather
Father’s Mother —» Paternal Grandmother

Mother’s Father —» Maternal Grandfather

Mother’s Mother —» Maternal Grandmother
Father’s Brother —» Paternal Uncle

Father’s Sister — Paternal Aunt
Mother’s Brother —» Maternal Uncle

Mother’s Sister —» Maternal Aunt
Uncle or Aunt’s Child —» Cousin
Sibling’s Son —» Nephew

Sibling’s Daughter —» Niece

Son or Daughter’s Child —» Grandchild
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f
arent,
| we canno’ determine the gender of B since B can be either of the P&
:i | her or |‘il”lcl'1
h mot
A
A is the mother cmi‘l’)__r_» T
|:'H B
j : i
| . 7 ~hild, son
Grea[ Wwe cannot determine the gender of B since B can be either of the ©
lmif_}, t 8rﬂnd 3 L daughter]
ES[I'O r@e i Etugh
g i By "
Culy 1 Ly, ity A
I‘ngn ifi(‘&;rhﬁﬁin; T
Koo oy N ‘ ‘
l tp e “ﬂ..;g_- - A is the grandfather of B—P 1
'E. A SEJr,' {['.i‘ll:} A S I=
8 o L
: . -l id
: ; 5 dehild,
B F B s . aither of the grandc
e the gender of B since B can be eithe
8e [we cannot determine the gender ¢

granddaughter. ]

orandson or g . W
U ent that they are 2 generations away

i.e. gap.

, ﬁs‘h'F The 2 arrows repres
-Male or tbmaiej Lot us frY 10 understand through examples. brother, How is S related to
€ ¥ . [ -1 ! ther.
. Ve o R's mother. S 1s R's bro
1 : Pis Q's daughter, Qis
example
] : 9
Iare Using 3d0ubjml:.ﬁ_ P! o (b) Grandfather
T1ed to each othyy e (d) Son
2 Brother
© each leve rep (c) Br

Solution : (c) is correct.

o

S+

Clearly, S is brother of P.
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Example 2. 4 .

B's brother. C 18 B's mother. 1) js 4
IS A related (o | '
L) ll!'iil';:'s!l.‘u ey ”l".’ Larand - i0 e
' I-d ut!
(c) Great grandsom (ef) CGirand 0 sat
Solution - (¢) is corree
A
a r"_"."-'-"—'
l jearly’ 2
+ suits O
l) Nqo‘ther v
j lﬁﬁamp‘e augh
3 At
c (LI] : h';: c1SLE
(jit) i
| l, e s e i
+ Lid uncle
: A B gho is ¢
Clearly, E is grandfather of A—» A is Great grandson of E_ (a) K
Example 3 : Ais B's brother. C is D's father. E is B's mother Aopdr Sowﬁon ¢4
How is C related to E ? B - ':R'.'I'""‘“"-
(a) Wife (b) Husband
(c) Sister-in-law (d) Niece
Solution : () is correct. £t B
| gxample6:
C (+) | Wwhatisthere
(-) \ '
E t (a) Cousin
l (c) Sister

DIty o .

€ sister of i
W B. B is the brother of C. C is the som of D. How isD
: ] . I 1S

(a) Son
(c) Daugh[er (b) I\'lm_her Cleaﬂy,E
(d) Uncle gx;mpl.e
- FIOW 18
(@) Fat

(©) So
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l']L‘.!1'1_'“ l)-i"‘ PI‘HIL‘“IH ”1.';\“ H- C.( ioﬂl.l;‘r of D g
\101}11-‘! sults lu_-.;,--.u.‘l:.«'.; no other option is ther TH not clear, but in qu{:ht".()n's,' options
gxa le5: (i) F is the brother of A re as other part of parent.
i) G s the daughter of A. '
{ % ~
b “”.} - ig the hl-hll_[ of l -‘
. (i) y Cis  the brother ot G.
R A ) w‘lli’” g the ancle of G 7
n
ap ) K (b) F
a’ﬁ‘b o : (c) A :
o, Solution : (b) is correct. @ €
K- F+ A
is A and F 18 brother of A. G—C
‘LIS\HIBU!'B E1 o S
Example 6 is the son of C. Ais th S e .
what is the I'ela'[lOI'lbh1p ofEtoD? is the brother of B and father of D.
i Couvslh (b) Mother
Rl a5t (d) Brother
golution (a) 18 correct
(l: 1 M A
m of \
D). Houg E+ D
Clearly, E 18 cousin of D.
Example 7 : M is the son of P.Qis the grand-daug,hter of O, whois the husband of
P How is M related to O?
(a) Father (b) Mothet
(c) Son (d) Daughter
——
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Solution () 1s correct A, lj_ ‘__’urcqh ‘:::{::;;
3" fthe of vy W
RilE , (jne 407 ‘:ﬁh"‘"d : f:”v o
+ i{lh'ﬂ:iw relater
o ™ : P L
M B9 S rother ™
¥ ¢ son
Q Lo ||'h} i'}ﬂ'ﬁhsr
(c)
( Nephe
Clearly, M is son of O. : . il 2
Examp[e 8 : X and Y are brothers. R is 1h¢:}far_hcr of Y. S is the hr”lhf:r of 7. oM ° (b)
Maternal uncle of X, What is T related to R Sﬂmu
(@) Mother (h) Wife .
(c) Sister (d) Brother -
Solution : (b) is correct. “
'/—\ onan' +
+ + Man® =
e S R (Father)
X+ Y+ Clearly Suresh
Sl early
5 . 3(15 a
Clearly, T is wife of R Q4 Ar,ithor
s s iaeh: of the 2
e ' the patert
TH SOLUTIONS (MEMORY asey | s the pater
e vl | daug!
Q.1. Vinod introduce Vishal as the son | ers and sisters, I have none, he is my ‘ (a) Brothe!
of the only brother of hjs father’s wife. | father’s son’s son”. Who is the boy? ! (¢) Father
How is Vinod related to Vishal ?

(@) Nephew (b) Son

(a)- Cousin U)} Brother (C) Cousin '(d) Uncle Solution :
(C) Sop (aj U3ee [Mﬂ}' 2(”8]‘ (Father
[May 2018 Solution :
Solution : (g) s
Father £33 wife ¢—y Brother (6) *Son ; \ Q.5.Pan
T 1 Father sisters, P
Vinod Cousin Vishal T 3 Q relate
- : P No Brothers ¢=——— pyis ——p No Sisters
Clearly Vinod is coysip of Vishal. - ““‘Tm (@) Un
Q2.4 Prisoner introdyceg a boy who Son \c) Fa
. Cametovisit him to the Jailoras* iz v; ) ) | I
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Wﬁo is Elsny

”lEb 3
b) $52 0!
/) Uncle

[May iy

e N SisteS

8 1».““"!

h) SO0

l\--'l.fllllli““ 2

wo man i

pan®

nan
(Father)

Clearly SUres

.[nl'\"i
B is related

+ =

othert
rﬁ[h (¢} py
& (d) NepheW

b)

+

woman e

+

his

prother in-law

Mother

Suresh

l

. {4
Suresh'”’

| to the man?

LR

(he woman whoisthe n
o LIN] i
ynd of my mothey” they

- How ig

[May 2018]

Mother

= = Father

- Woman (Mother)

the ‘Son’ of the man.

4.A reads a book and find the name
familiar. The author ‘B’
al uncle of C. C is the
daughter of A. How is B related to A?
(b) Sister

(d) Uncle

of the quthor
is the patern

(a) Brother
(c) Father

Solution : (a)

[May 2018/

(Father) At — B (Paternal uncle) .

C

(Q.5.Pand Qare brothers. R and S are
sisters. P’s son is R’s brother. How is

( related to R?
(a) Uncle

(¢) Father

(b) Brother

(d) Grandfather

[May 2018]

W Ry
h:ll*-"'“ inti oduce a man s
! e iy

| Solution

:l
|

s

|

ATTONS

s (a)

p l. Hrrnhnrl c

&
0T

(Let)

son X‘HR oimtar g

(e FER
learly ‘Q)’ is the uncle of ‘R’

( fiias
).6. Pointing to a man in 2 photo-

./
&

19.7

i‘:"”'hﬂ a woman said, “the fathes of
is brother is the only son of mY %randﬂ

f: i ?? .
\ ather”, how is the woman related 1O

the man in the phntﬂumph?

(a) Mother

(¢) Daughter

Solution : (d)

(-}

[Woman | ¢— | Man |&e—
Photograph

QQ.7. Six persons are seen toge

group. They are A,

is brother of D, but

B. F is brother of B: C

(by Aunty

(d) Sister

married together.

(a) 1
ey &

F is son of
is not mother of F.E
The number of female me
group is.......

{Nov. 201 8]

Grand Father

. o

1Tl
_Father |
u
# |
Brothet
therina
B,C,D,E and¥.B
D is not brother of
and A are

(b) 2
(d) 4

[Nov. 2018]

C.butC
is brother of A.
mbers in the

Q]
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olutiop - |I Q.i(.l. Pmnmluloa Ilittur
(s | she is the mothe ® Sup,
() ¢ i r of Thij
[..__ ; _ II daughter. How is lagy | ""’“"s "ﬂ|.|
“B+—p [ Sumit ? s lat'dll 1I':'!‘.
N ]
No. of female members = 2 || (a) Uncle (b) ¢ |
: .{Ju.’
(:?-3- Ram apg Mohan are brothers, | (¢) Daughter (d) N ]
élshank:tris Mohan’s father. Chhaya is | th
Shankar’s sjster. Priya is Shankar’s | Hune
niece. Shubhyry is4Chhaya’s: srand Solution : oIy
daughter. Then Ram is Shubhra’s........ Sumit
(@) Brother (h) Uncle
(¢) Cousin (d) Nephew Son === Wife" (Picture)
[Nov. 2018/ l
: Daughter
Solution : (b)

Clearly, the lady

- {ln jQ :
Shankar'— Chhaya p tul'e_) 18

[ daughter-in-law of Sumit. e
Rt o Mohan'— Privo& Q.‘ll. Pointing toa phOt"graphsaman !t
ShicATiOm s ld CHs tTﬂ;!;fr hu;ba“d!s Sistey L
: : IS my aunt”, €N what ig relag. |
Ram is the uncle of Shubhra. between a man and he » atip lﬁ
Q.9. If P+ Q means P is the mother of
a) Son
Q.P - QmeansPis the father of Q. P @) (5) Uncle
- Q means P s the sister of Q. Then | (¢) Nephew (d) Brother
which of the following relationship Tu
He 2
shows that M is the daughter of R ? . 2

Solution : (
(@ R+ M+N 4

(b) Rt Nie M Mt)'ther‘_]?__—“- Husband oo St
{C) R-M N
Photogr 5
(d) None of the aboye (PhotographJ* gt
Clearly, th ]
[Nov. 2018 | , Y> the man and he (Photo

Solution : (a)

Go by chojces (GBC) g}ilz;shl;: isllﬁnlg'the old man Kailash
i On 1s my son’s uncle”. How
R IS Kailash related to o]q man?
f\!f (@) Brother
N (8) Either soz

oI SON-in-law

Son

ilash 18
i

1aw ‘3 Poi“ting in
-LSHiS mOth‘

saids ther”. He

mo

l"

¢hat man:
(a) NepheW

(C) Wife

Sollltiﬂ n:

Mother:

\
() oo

Clearly Son

Direction (
lowing infc
the given @

Six membye
D,E and |
the son of
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e ﬁ,}fh;* . 199
'Qt N pathe” Al ;
Qq :"irh“\ i ) : .|.”“i pFathet hn;‘:]l: .l .urlc married couple. ¥ is the
0{;&,_“ = {,l‘ @@ [dune 2019 / the hn:;{:::{_ ‘-1:_1:5 the daughter of A. Fis
0 (D) ;
h@ 1i||li"” A :-:1-14_ ‘"()W many male members are
f"" k: Old man (% €re in the famil}’ 71
'192 Gl b 2
Gly Sort Vi CC R
- | @
; [Dec. 2019]
o || Solution : (¢)
e Kailash is either Son or Son-in- | Q.15. How many children does A have
@ ®) 2
jqwv - s
Jfﬁ. Poi"ﬂngul a*;‘)!mtngraphﬁgmlia (c) 3 (d) 4
Jiga i potiers by Canchterils)| [Dec. 2019]
the ::‘ other - How is Sonia relates to | Solution : ()
" man? - | :
I’a!i] hat % 4 (b) Sister | Q.16. What is the relation of E to D
isfstaﬂ o NepheV S (a) Uncle (b) Brother
lag, | wife (hiPgce g |
tigy ) (¢) Father (d) None of these
[June 2019] D 2019]
ec.
Sﬂ]utiﬂﬂ : Solution : (a)
Mother, Q.17. Who is the mother of B?
)
019 [ \ (a) C (b) D
g i’fﬁ’{;{gg;a_@l-—— Sister” ) (d) A
k=~ —
: . 2019
: o | | : [Dec. 20 ]
Solution : (d)
Clearly Somia 15 Niece of Photograph. Q.18. Vicky introduces John as theson
" pirection (Q-14 - Q.17) Read the fol- | of the only brother of his father’s wife.
lowing information carefully to answer | How is Vicky related to John?
; the given questions. (a) Cousin (b) Son
¢ Sixmembers of a famll‘ynamel}-’ A,B,C, (c) Brother (d) Uncle
D.E and F are travelling together. B 13 [Dec. 2020]
her of B. ;

| theson of C but C 1s not the mot
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Solution @ (a) ;
Brothel father <= wife i'\']‘”ilt.'u ,ointing o
: Q 2' ‘ Rﬁﬂl :,,ﬂ.i‘j
gr3P n in 12w of
e >’ jated 10 ¢
i |
_h]h” ‘\"Ik']\'_\ (,{,I} -'-\U-ﬂt
Cousin +f
Q.19. Point out to a lady Sahil said she | Solution : (d) is Correct gution : (b) 1s
is the daughter of woman. Who is the II i s- 2 MotheT
mother of the husband of my mother. | ! % >
Who is the lady to Sahil? / Bio o R |!l
(a) Sister () Aunt | Here Gender of Q is net knoyy, \
(¢) Daughter (d) Sister-in-law Q.21. POi“ﬁ"gm“’ﬂrdSaperSOI t\/sbj" '
[Dec. 2020] | said to a Woman, “Hig moth Nam, L
€rj P i
Solution : () only daughter of your fathep» 12% E
: ’ il
Mofther (Woman) the woman relateq to that per,, i
,' | (G) daUghter (b) mother Cleaﬂy Ram
e B ) sister (@) wife Q.23. A girl
Mother <= Father+ i
1 A [Dec. 20 son of the f
Sa} . e N Solution : (p) uncle. The
11 - « Sicte
Brother - Sister (@) Son
- That Lady is aunt of Sahj]. Fa}her* N (¢) Son-ir
4 \ ‘
3.20. Pis the brother of Q and R, Sis ‘ '|
the mother of R. T ; N 20 : '. 3
Which of 3 T.ls the father of p, | Man — Saig __, Woman ‘/Daughler - Solution :
1¢1 of the following statemeny can- 4 |
not be definitely tyye? 8
S ' Pointmg\x -
(@) Sisthe mother of p *Person

(b) Piss i 1

(¢) Ti hﬂn "¢ ¥ YOUfFathermeans woman's Fathers | I
1 i
> lusband of g the only daughter means that woma |

herself, Clearly that woman is mothero’ |

that |

[Jan, 2027) | s

: Clearly ¢
|'

(d) Qis Son of T (
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ky, ¢
J
““"””""--’\l'mm, 19
% P..,iuriu:_: to a lady in 4 pi i
o ¥ i Ram said “Her son’yg f‘ltl}::‘;_ i ?:24. |'uir|ling to a lady, Sahil anid,
’hh- gro? '; in law of my mother>, Horv " She is the daughter of the women
%% . he * '.(-mrml to the lady? ' | Who is the mother of the husband of
[ fq) : Iwril I ot . my Mother”, Who is the lady to Sahil?
Iy QO 2 Aunt { ousin (a) Aunt (b) Sister
™ I}Q'Df ) gjster () Mother () Daughter () Sister-in-Law
G / \ flan, 202; [Jan. 2021]
Ien(l'fép pi.\ 0 :5 jution : (#) is correct Solution ;
. 50
pﬁiﬂ ; 0-‘0 ] \I% Mother Maother
a, Qt, M F | N
u’nlh Owar rknl:] | e q“” i | i
| he. -in-law
u&"]f an- 5 qsa LL?’ ' | \ St | Daughter —— Husband === Mother
: « “Da i S (Lady) .
Idn ﬂr‘}, ls_,n "3% || \ \
refa ﬁurf Ofh, n, § | sister _
Ohy te afb t = lady s 17,1 Sahil
>Ulep tﬂr epn CT,# L 5 usband 1
" (b hafpel}iﬂk- ] Ram j' | Clearly Lady is the sister of Sahil’s
) m% rs[,n?lr Son Father,
e i S S Evb e [ L
(q) Wfﬁ_a Clearly Ram is the brother of that Lady. © the lady is Aunt of Sahil.
.{5} " 023 A girl Introduced, a boy as the | (a) is correct.
9‘:2%, ' son of the daughter of father of her Q-ZS. Pointing towards “A”, “B”, said
b ncle. The boy is girl’s : “Your mother is the younger sister of
my AP A EC noNod CRY ac
Atheps (s) Son (b) Brother Y mother”. “A” is related to “B” as
J \E (¢) Son-in-Law  (d) Uncle (a) Uncle (6) Cousin
; (¢) Nephew ather
i ‘Un}a / !J’an.- 202_;] P ((h Father
. July 2021
f Da”é'ﬁie'; t  Solution : = [July /
_; olution : (b) is correct
‘\‘ ! Father
Persop o Mother _ Sister £ Mother
. / i! ! !
.'an_ ; ) : i
S WOman's Fygher; : Daughter  Uncle* ‘T i
- means that wopg ' | |
- woman is motherof | A i B
] . Sin
Son Girl ou1
(Boy) Q.26. Shyam’s mother said to Shyam

Clearly the boy is cousin brother.

80 (b) is correct.

“my mother has a son whose son is

Ram”. Shyam is related to Ram as
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{a) Uncle (h) Cousin |

(@) Aand P are Cougj,
1§
{(¢) Nephew (d) Grandfather || (h) Cand P are Sisterg

. (@)
I.dtiﬂ“ L
[uly 2021] | (c) Pis the Materny| ungj g0 Fathe
; Clg /
Solution : (b) is correct | (&) Ais the Maternal ;. | o p’/
& Cle g, shter
| MOTHER / ”" ' paugh
| :| Solution : (¢) js cotrecs uly Wy, v
"Ir 1 Son
! Nz o
Mother-  Son' | He = boY
T ; ; :ven thi
i | . 1\'£n
I J *C "'—‘----+l v 31. 1t 1% v sister
| [ 0- Q- pisthes
i’ | P 0{ 1“ Hﬂ“‘. is A re
Shyam Ram | | s of D" E
[ — e Ll) Moth‘—r
Cousin brother Q.29. D is daughter of g, Alsg, : andmother
A o e o Cis a brother of
Q.27. Amit said “This girl is the wife of ofAand B

qe ﬂnfh Lh\’ Gr
F is brother of D. How 19 Sister gy
the grandson of my mother”. How i

CF )
18 relﬁl i :
B? ey, ter
Amit related to the girl? i T : g
g a) Father-in-Law
(a) Father-in-law 0 ncls jution (b)
() Grandson (O Broih 2 A
(c') e (& rother 1
s (d) Mother-in-law t
[July 2021} : [Dec. 20y
Solution : (a) is correct Sation (1) | Q32.Rtoldtc
E | thebeach,wa
Moiher‘/ | ! i of the brothe
[I) — 8 | mother”.Hon
|
Amit L B-—A*_ ¢ l; Solution : (¢
e N :
T_E‘_'E‘”ds‘*’” Girl Clearly, F ig Maternal Uncle of B. |
T ?}-{30: Introducing a boy a girl said, '
Q.28. A'is the son of (. C € IS the son of the daughter of the | )
sisters; Z i th ' - 21d Qare | father of my ypcjen Whois the boyto | |
» &1 the mother of Qand p i5 | the gir]? i Sl
the son of 7 Which of ¢ : is girl? |
Statemens i trye? : Dllnw;ng @) Brother |

(b) Nephew
(d) Son-in-law
[Dec. 2021]

Re
(Engr)
(let))

(¢) Uncle

A

i
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(o) 0 & "qh
p h P
) his; T
A‘ i lﬁl;w qu- ;
Sy e
] oy
'Jt. r}] i §
1 a,, W B -
Uy foy, 14 LOOD Ry N
: '}!Q J)D LATIONS ‘9"3 k-
(o, . L .
)]\5 l"}w 'J'fﬁ _mlll““ friend?
¢ b 4 W ;
U,}Q{. Ir,-,rrj | i,ll|l¢.|. | {a) Cousin (by Daughter
: l"f,‘_ 3 ¢ (¢) Niece (d) Aunt
b J‘; [1;|||_;_'F!ILI Uncle
r Q. [€ ) 4 [Dec. 2021]
/ \\\ '. ,' l I" | Solution : (a)
. [ Son Girl 9 - 2
I) iﬁ 4 0 * He hoy | 'llh'-?" i flusband’™s brother
b : da b .. given that “A is Jaughter
F, 1] a1, It 1S gy is the mothe u Tia daugh
oy Rer e Q- ‘gis thesister of G5 C sthoTume | | [N o
th 01'4 ﬂrE ”_])'.._ How is A related to D? % v ; ]
Oy Mgy A A vother | Q.33.P,Q,R,S,T,Uareb members of
| ; HO Hi&s'sﬂﬂ (@ - : | ii.lzlmu}. in which there are tWo mar-
lher‘i ! Fjs lstﬂr,w[i () (ledmnlhm | ried couples. T,a teacheris married t0
ol ”~Law r""a[ i 0 Aunt \ a doctor who is mother of Rand U, Q
g Ed*: cter | the lawyer is married to P. P has one
th (d) 25 | son and one grandson. Of the twoO
er [Dec. 2021] \ married ladies one is a housewife.
'herx,‘ solution * (b) Thereis also one student and one male
N-Iqy, _ engineer in the family. Which of the
I\ following is true about the grand-
& B C daughter of the family?
) me[; W | (a) Sheis alawyer
il D . : g
' (b) She is an engineer
F Q.32. R told to M as, “the girl, I met at (c) She is a student
b the beﬂ;h- ‘;35 {hel}’ﬂun%est d:fll.ghter (d) She is a doctor
G F+ Of the rother-in- aw ol my riend’s
: | mother”. HOW is the girl related to R’s [Dec. 2021]
— A * -—-.C¢
Solution : (¢)
Maternal U
n - . s
Cle of Q -\—-T— p (House wife)
icing a boy a girl ui |
& - ] J— T Teache . o
1 of the daughter ot Do = 1 (FREFD Q == P (House wife)
ncle”. Whois thebo | e
i % Son”
: R [__
#) Nephed \ \
(6) NP (Engr) (student) L
! 2?} \;Qﬂ—]ﬂ'u“ {le[} {;V[E] }r b‘(:) (Grandson
d) 3
th’" W
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Combining points (1), {it) and

gether
e VYN

Axhok

v

. -
& tar”t\ :
- : L § X R
Yivva Sahil Gauray™ Ianya
: 3 ! - D
ITAY or Sahil

U @A

st
-

*! ;i k&r ,’f%‘x T
N G T
) L
e e % !
«H;-t'. A L ; - ~ (i
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{3 . {¢) is correct
g g o . =
. B : Q.38, Rani told Jaya, “The girl 1 met
iy W = ;: vesterday at the beach was the young-
Ty Ashok™ — Divya est daughter of the brother-in-law of
i : 7 i .
i L my friend’s mother.” How 1s the girl
§ S related to Rani’s friend?
. 8 wormr : ; : - e
: ;" i (@) Cousin (b) Daughter
5 I o {¢) Mother (d) Aunt
B PR ®s
f 2
[June 2022]
5 : i S;Eﬂdf}ﬂ =
§ ey
E e Brother-in-law \
: {
4 Mother ———= Husband® Brother’
} Ra Friend Daughter
i i i
Cousin

0.39. Suresh’s sister is the wife of | daughter-in-law. Rohit is Ram’s
brother’s son. Who is Rohit to Suresh?

(b) Son
(c) Brother (d) Nephew
[Dec. 2022]

Ram’s

Ram. Ram is Rani’s brother.
Ram’s

father is Madhur Sheetal is
grandmother. Rema is sheetal’s

(a) Brother-in-law

» " il
o
- #"V
s




19.16 HI{J[JIHH-I.-\HUNh

Solution :
Sheetal , Rani was Y
u-{larmr 1. “’fhc:h,.t “He is the
il - = Rani G'j Ilgctt’d (her’s son”. H
Suresh*___ Sjste;-——>Ram"' é (ec? f,‘;ndf” 47
(Rema) | vinit?
R{thl-l' rﬂiﬂ;cd £ () Dz
. 1 :,\L]HT- () Ni
- (d) is correct . a) gjster
0.40- There are six children pla}!]l’]g faolhall ||EII"I'IE|}’ A! R, C 3 “-] b
3B e i =5
A & E are brothers. F is sister of E. C is the only son of A’g uncj, i g, gtion?
daughters of the brother of C’s father. How D is related ¢, A7 Be F]; 50! ;
' “ousi (c) Niece B path®
(@) Uncle (6) Cousin ' ) Sigte, . Vinit
per’
(D, fat
ﬁ Solution : 'zﬂli' e (Niece)
E Father* Father* Raniﬂ i‘S correct.
—— ., (@) \nnanya is motk
| 43 is the son of |
@ AA—_E‘_F_—B_—D_ | Sh}‘ar:r UfAnnan}-'a. !
Clearly D is the sister of A. b“";';yam, how Bhir
-~ (d) is correct . ;{hiva?
: s . n
Q.41. Inapoint family, therearefather, | Solution: I @ e
; 1y Cousin
mother, a married sons and one Fathor it ; I (p) Cous i
i il F——-_,_I I b -1n-law
unmarried daughter. Out of the song v S |i (c) Brother-it
two have 2 daughters each and one 3 Sons+ 1 Daugher '|_ (d) Son-in-law
has a son only, How many female — l
members are there jn the family? Let s m Solution:
= 3
(@) 3 b) 6 v \ v
€9 ) 5 Lot 2 2 I Son Shiva* Ana]n}
[Dec. 20227 Daughters Daughters 1
T ; M
otal No, of Females = |+ | +2+4) Saty:
_ A ' (¢) 1s correct.
* (b) is correct

Q.44. Suman is
Rakesh and sist
Ramesh is the SO
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“r, u‘eahh ., when Ranl wasivingges
[10 04‘] Q% U'J;"t,,;tr.-d that “He is the hrullu-l- of
( W {y ' e ather’s son™. How i
C D, 7 Y e rand! IS Ranj
) N; Iy "% 4 oy £ vinit?
loe, Mo, 908 nted !
Ce af& ‘1’@ el ] ) Aunt (£) Daughter
qrﬂ tr'?[', W l’"} sister (d) Niece
'1? I*M e {Dec, 2022;
(Qj §; ﬁ 50""”":
h{‘,- r.‘ﬂﬂ]i—‘r
U | — Vinit
e(‘} Famcr' .
{ I-
Ralnr" (Niece)
. (;)’) is correct.
"43- Annanya is mo.lher OfSatya and
: Si;*"’m is the son of Bhima. Shiva js
fjon. b,-;rhff ofAnnanya: If Satya is sister
. of Shyam how Bhima is related ¢q
F, shiva?
Athe,. ~ (g) Son
33" o (1) Cousir
Ong+ ; Y () Brother-in-law
b Da[a'g.';. in-law
Iy lrdf) S(]ﬂ‘ln' d
S [Dec. 2022] |
2 §
¥ % Solution:
) ¥
il evre } u 2 re ) 3 t
lers ”‘iﬂphaepﬁ-s{]ﬂ i .i'mzlm}-d =iy
| |
|
OfFem&Jes:]+f-‘ g I 3 |
4 Satya- «——» Shyam’
=f
. (¢) 18 correct.
Cl

Q.44. Suman is daughter-in-law of
Rakesh and sister-in-law of Rajesh.
Ramesh is the son of Rakesh and only

B
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1
‘:mther of Rajesh, Find the relation of
SUman with Ramesh.

{”J H'I_‘ilu_r..

(c) Aunt

in-law (k) Cousin

()Y Wife
. [Dee. 2022]
hUll.lliﬁn;
Rakegh
| .
K Son Suman
Wzmn”*]'l ey (Wife) Hrl'g'\_'\'h
T ¥ Sister-in-ls ._J_J;
E fie ol v ther |

<. (d) is correct,

Q.45, Pointing to a man in the
phutograph.Khushisa}'s.""ThiS man’s
'.qﬂll’s sisteris my mother-in-law.” How
15 the Khushi’s hushand related to the
man in the photograph?

(a) Grandson (b) Son
(¢) Son-in-law  (d) Cousin

[Dec. 2022]

Solution:
!
ST —— .‘Szm'
(Motl 1c1'}l|

|
Khushi -;\:.-w-‘;\ Husband

[Grandson of photo}

. (a) 1s correct

| Q.46. P, Q,R,S, T and U are 6 mem-

bers of a family in which there are two
married couples. T, a teacher is mar-
ried to a doctor, who is mother of R
and U. Q, the lawyer is married to P. P
has one son and one grandson. Of the
two married ladies one is a housewife.

—— N
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Thereis also one student an ‘_i sy ‘-":fl gl
engineer in the family. Which of I(r |
following is true about the grandson o [

the family?

(@) He is a lawyer
(8) He is an engineer
(€¢) He is a student

(d) He is a doctor

Solution :

Q ==——— P (Housewife)
(Lawyer) i
|
|

T S (Boctor)
(Teacher) *\
R

Engineer

() is correct.

.48, J’“jll“’ll}_" on .

woman says “Th;q inan{”"”"fir. I)uu‘é-h‘c her
1 L] L]
my l*sulhup-q-"_law_n --'u.,}t“l‘l._t, () (;rzai"dm“
¥ Iy
women’s h ushang Felag ”'“r\ i.lh-‘ (@
e ]
in the phuiugraph-_. ll.|hL ' j
| gio?
; gy <
(a) Son 50
(h) Son-in-law
| (o) Grandson W
|
[June 2023] | (d) Nephew
|
| 1 Grar
ltne al G
I| Solution : 2’12; aatern 1
| . | e
| (Man) Photogy, I d) 15 cort
| . Slaph ( et
l | 1 Based
| Sister ! -3 Sop 5. d out W
|| a1 lﬂ“r! ﬁn
| w Syt W : “ .. E nd J are
| Woman - = Husbang |y (1') Ka
' ' sister i
J (¢) is correct. (i) K’s siste
N ar
A i 2 and [
Q.49. If A is the brothey of B, Bigy | (id) P
| daughter of C and D :

Q.47. Neelam, who is Deepak’s daugh-
ter, says to Deepika “your mother-in-
law. Rekha is younger daughter of

Ramlal, who js my grandfather”, How
Neelam is related to Deepika?
(a) Sister
(b) Niece
(¢) Sister-in-lay
(d) Aunt
[June 20237
Solution :
Railnial
|
Dcfpak . Re;d':a e
(Mumany
Neelam I
ey === Do

(€)is correct

|
(a) Husband
(b) Wife
(c) Granddaughter
(d) Grandfather

[June 2003

Solution :

[])" e (|’:i )

| !

A'— p
(b) is correct
Q.50, X js the hushang of Y. Wis
daughtey of X. Z is husband of W.Nis
daughte, of Z,
(@) C ousin
(5) Niece

is the fatherunl !
then how is C related to po ¢

(iv) fiis the da
(@ K

(b) !

(¢ N

(d M

Solution :
MO ——K

Clearly K is
~ (a) is cor
Q.52. There
Eand F 4y
Married ¢q

ber, p is th
brﬂlher of
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yaughter
g 1 the daughter-in-law of F whose hus-
band has died.

(¢

y {,-|-,-|l1'-“1“‘|h‘~"'
(

[une 2023‘( (a) A
golutio® * AN . (6) %
>~| Y () D
| (ﬂr) I“
WO 3 = Z® [June 2023]

Solution :

NG i
") Is . - k. 5:tlrr y is I\"IEIIL‘I'HHI Grandmother, Iil
49 0’}% g "fu%‘h (@ is correct. e - Bl
3 . ’f,‘ L 1 51. Based on the f;l;ltuments given .|
gbfe &f . pelows find out who is the uncle of P? | E D"
r e £ o L] aTo) N
; h.ﬂu Or(’a br% i K and J are brothers . F is the mother of C.
/ b Prndnherﬂfﬁ IRt s sister g -, (d) is correct.
!ushaﬂd %fedfm'%ﬁi (if) Pand N are siblings Q.53. Pointing to a lady, Suresh said
£ oY “she is the mother of my son’s wife’s

() N is the daughter of J
‘ daughter. How Suresh related tolady?

(a) K .
b J ‘ (a) Uncle
(¢) N | (b) Cousin
(@ M ‘ (c) Daughter-in-law

[June 2023] ‘ (d) Father-in-law

)¢ bushand of 1.V
Z is husbando( V"

Solution : [Dec. 2023]
F(+) . | Solution :
M- —K® ——J%) |
‘ Suresh
N P E,
g ' K is uncle of “P” | Herself il by i i o
Clearly K is uncle of “P”. i Wﬁ?_ <

.. (a) is correct. 1
Daughter’

Q.52. There are six persons A, B,C, D, '
Eand F are a family. A and B are a
married couple and A is a male mem- |
ber. D is the only son of C, who is the
brother of A, E is the sister of D. B is

| Clearly Suresh is Father-in-Law of that
i Lady.

| (d) is correct.
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Q.54. Mr. P saw Mr. Q He recalled. He

Q.56. l’ninting to

r’s | “His mother js th:;: h‘jy’ *‘\k.qh
is son of the father of my daughter’s PO A Only da,,, ‘a-
ther, who is Mr. Q to Mr. P? S Sl How i , 8y,
mother, who is Mr., lated to boy? f’kkahat )
(a) Brother B Utieia h
% ;O“:n (b) Father
(¢) Nephew
(¢) Brother
(d) Brother-in-law
[Dec. 2023] (d) Husband
Solution : ‘ [De. 2,
o Solution : |
Father™
.ﬂ—"""'_/

f

Mother- = Fathep
B S P{'_']“—“‘_,_AMUTIIGI"']

Akshat l .
(Father) < Mother)

|

BrotherZin-L aw Daughter®

- (d) is correct,

BQ}:’HJ ;i:
Q.55. Showing the man playing the (Son) il
cricket, Ms. P said, “He is the brother : :
of my uncle’s daughter”. Who is the | .. (b) is correct. 1
man to Ms, p? Q.57. Pointing to lady a may Said, th,
(@%Son son of her only brother is brother o
O Cousin my wife, then how is lady relateq ¢,
man?
(¢) Uncle

(d) Brother-in-jaw (a) Mother-in-law

b) Sist g
[ec. 20237 | (®) Sister of my father-in-ay

Solution : (¢) Mother of my father-

in-law
Brother <— Father (@) Cousin
Man- [ [Dec. 2023]
an+ :
(Cricketer)*>Daughter- p Solution ;
\_/ Lady®) <—> Brother®
Cousin (Father-in-law
= (B)is Correct. / of the man)
Manm‘{_‘}'Wifet '<>Son*

Clearly Raj
@)1 corte

Q.59.X,is
Heis theh
ter of the f
related to

(a) Brot
(b) Fatk
(¢) Bro
(d) Fat
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: -"U[ "i&llk:ilr_ qjuis husband of Devi, Kg, i
Ii }Jﬁ?‘ hi v L,lg-'-h"- -‘r'-”'f Gopal. Arjun is g s““ﬂn. | Solution:
usba f*‘\ : ,-;ulll*_ Ashok is brother M-Sh"bht-: | e
Ny "r"l,l.lz::"?‘ a father of Arjun, Karap 1:. i
n P‘;Il"i Jaw uf_l)c\': then how is Raju js Father
. 01 “_-{l to Arjun - | -
Ll i | e
M ! i [-'11[h’5]_ || \T\ = G e X'
Ot . Bl
h@ﬂ._] Q}ec_ N I.ﬂ‘—[.e 2 l Brother-in-law
. n-1n-18 ; ;
"U( I N\F 203;,1' e s Edf ther | ~(€) is correct
Y . athe
F Sh&t athﬁH\J (d) 4l | Q'IE'"-ASRYSBis my sister’s son, Bsays
the, [June 2024) | D is my father-in-law, C says, D 15 ™Y
) ‘?\“\\M ution: "“F‘f’-‘i brother. What is the relation-
Othe o | ship between A and D?
| F: a' =S b
/ RaJ | (a) Uncle-nephew
BU}-H, . i} . || () Brother-sister
T . ok «—> Daug ter™! == Karan" (c) Father-s
eCt (SGI}J she {Shobha) oL e? A 1
b _ (d) Nousins
n'g' tﬂ 'ad . Gopal Arjun” \ [June 202—‘”
oo : Solution:
n '; brothEr isaﬁ Eaidvibf Clearly Raja 1S Father of Ashok. | e
oW i Jady hr“"ie;ﬂJf () is correct. I A+ . St G erNIE D
I g k % 4
f‘lated b 59,X,is2 male introduces Y saying, | A 'H e
IN-[qy, Heis the husband of the granddaugh- ‘ /
rerof the father of my father. HowisY | '*
% ?
Y father.jn related to X | gender not known.
fmy father: (a) Brother | So we assume as per option.
(b) rather (b) is correct.
(¢) Brother-in-law Q.61. Ais B’s Sister, C is B’s mother, D
[Dec. 2y (d) Father in law is C’s father, E is D’s mother. How is A
[June 2024] ) related to D?
(a) Grandmother
Brother”’
7 | (Fatherirby (b) Grandfather
of the ma (¢) Daughter

»Son’

I\ (d) Grand Daughter

| [June 2024]
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(€) is Correct
Q.62. Poing:
o inting toyy, '
Mr. S varde .
I\]l.\- X says uThiS "‘:rdﬁ a ph(}l‘{jgr;'ph ||

« i

an’s son’g sister is
How ijg the Mrs,
to a map in the

My mothe

X’s hush
sDand g,
phﬂlﬂgraph? ated

{l’..’) \S()ﬂ
(6) Gr

I in-lgy

andson

(a) is correct.
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[ (c) Brother
|
| () Daughter

10
| Solution: e 2‘!;2(‘_

| Photograph _
o '"*!T‘f&ul |

[
Son' Sister1 W

’f'”.‘:.
= PP LI ; .\c;/,
Clearly “X” is son-in-|

No option.

So,son-in-law can be considere
ag«
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st
Q ds raw
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